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1. Which of the following terms can be subtracted from(—6) ?

(i) 2m* (i) 3m (i) 6 (iv) 9m3 (v) 9m?

2. The value of3h2 —2h%2 —7h% s

(i) (=7h%) (i) (=8h2) (i) (—3h2) (iv) (-6h%) (v) (-5hH?)

1 3 1 1 .
3. Thevalueof=n+-n+-n+-nis
3 5 2 2

(i) 2—7n (i) 2—9/7 (iii) E/7 (iv) ?n (v) En
13 15 17 5 15

4. Which of the following terms can be subtracted from(—8e¢e) ?

(i) (=2ef) (ii) 6€ (iii) 5 (iv) (=3d) (v) (=7dF

5. Which of the following is a like term of(—u2 vtz) ?

() (=282uv?) (i) 28242V (i) (=3Fuv) (iv) 5tu’v? (v) 3tuv

6. The value of the polynomial4hjat h=4,/=4,j=3 is
(i) 46 (ii) 47 (iii)) 50 (iv) 48 (v) 49

7. The value of8/<2/2m2 —8k2/2m2 —6k2/2m2 —(—6k2/2m2) is

(iy 3 (i) O (i) 1 (iv) (=3) (v) (-1)
1 1 2 1 _
8. The value of —€2R2g2 —~e2f2g2 —“e2Rg2 _~e2f292 s
2 2 3 3
() 0 (i) (=2e2Rg?) (i) (=3e2Rg?) (iv) 2e2RPg? (v) (-e?Pg?)

9. The value of the ponnomiaI(—6u2 vw+7u2v—=5 VW2) at u=(-3),v=(-3),w=4 is

(i) 699 (ii) 697 (iii)) 701 (iv) 698 (v) 700

10. The value of the ponnomiaI(—4p2 —p+5)at p=(-2)is

(i) -6 (i) -9 (i) -11 (iv) -8 (v) -10

11. The value of (4R +3f+1) — (-9 —8f+8)is

() (11R+117/=7) (i) (13R+11F=7) (i) (14R+11F=7) (iv) (152 +11F=7) (v) (12RP+11f-7)
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The value of40pq + 2opq is
(i) 50 (i) 50 (iii) 7o (iv) 50 (v) 30
i) - i) - - - -
5 Pq 6 Pq 4 Pq 4 Pq 4 Pq

The sum of the terms6 ,(—4n),7 ,9n,9nis

(i) (15n+13) (ii) (14n+16) (iii) (13n+13) (iv) (14n+13) (v) (14n+10)

The degree of polynomial (—4)(2y2 +x2y—7xy—8y) is

(i) 7 (ii) 3 (iii) 4 (iv) 1 (v) 5
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Lo L
The value 0f2/ 2/ is
(i) (=1) (ii) (=2) (i) 3 (iv) 0 (v) 1

The value of 764 +(=4b6%) +4b% +(=7b%) is

(i) 3 (i) (=3) (i) (=1) (iv) 0 (v) 1

The degree of ponnomiaI(—6/3s:'3t3+3r353t—6/:'3.<;2t2—5/252 —5rs2£2 + rs? —253t) is

(i) 9 (ii) 8 (iii) 12 (iv) 10 (v) 7

The value of8m5 —4m® -2m° is

(i) 4m® (i) 2m> (i) 3m> (iv) (=m°) (v) m°

The constant term in ponnomiaI(3y4—9y3—2y2—8y—7) is

(i) -4 (i) -7 (iii) -8 (iv) -10 (v) -6

IfA=(2jk=5j+k),B=(5/—4k—=2)and C=(—j+4k—-4)then(2A+B+3C) =

(i) (3/k—8j+10k—14) (ii) (4/k—8j+10k—14) (iii)) (4/k—6j+10k—14) (iv) (4jk—11/+10k-14)
(v) (5/k—8j+10k—14)

Which of the following terms can be subtracted from(—c) ?

(i) 2bd% (i) 3622 (iii) (=9¢) (iv) 3bd (v) (=9cd)

The value of (-=2b6—-3) +(—8b+8)is
(i) (=12b+5) (ii) (-8b+5) (iii) (=9b+5) (iv) (=11b+5) (v) (—-10b+5)

Which of the following algebraic expressions is a zero polynomial?

(i) 0 (i) (8jK21+2R) (i) (—2/2Kk212) (iv) (—4/2Kk3+9/2-5)) (v) (=73k2P-93k+8jkI+Kk?)



24. The value of (52 m—8/m? —4Im—6m?) + (=92 m+Im?2 +9m+8) is
(i) (=5Pm=7Im?-4Im—6m?+9m+8) (i) (—4”Pm-9/m?—4/m—6m?+9m+8)
(i) (—=4Pm=7Im%2-4Im—6m?2+9m+8) (iv) (=42 m-5/m%2—4/m—6m?+9m+8)

) (=3Pm-7Im?-4Im—6m?+9m+8)

25. The degree of polynomial(=7fg—6f—3g+2)is
(i) 2 (ii) 1 (iii) O (iv) 5 (v) 3



Assignment Key

1) (iii) 2) (iv) 3) (ii) 4) (ii) 5) (ii) 6) (iv)

7) (ii) 8) (v) 9) (i) 10) (ii) 11) (ii) 12) (iv)
13) (iv) 14) (iii) 15) (iv) 16) (iv) 17) (i) 18) (ii)
19) (ii) 20) (ii) 21) (iii) 22) (v) 23) (i) 24) (iii)
25) (i)
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